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dre: 1. |t oo Sifard B

All questions are compulsory.

2. TP U & T AT & IR TP 8 I IR (o |
Attempt all parts of a question at one place.

3. Ul BT IR o FHI Sl Yo AT U UF WSS T8 2, IIRYRADI R TR IeT U
e forger sifart 2 |
You must indicate on your answer book the same question number as
appears in your question paper, while answering your questions.

go1 f=fiRad & ¥R @ RT & QT gHEfIF WR gesU ¢ (5)
(i) IR (i) TSIl udd (i) ST TER "I (iv) TSI TSR S0 2
(v) Sfa=T el Fex
On the outline map of World and India show the following :
(i) Tokyo (i) Andes Mountain (iii) Suez Canal Route (iv) National Highway No. 2
(v) Indira Gandhi Canal
go2 f=faRad &1 faem o - (5)
(i) SR BT BIERCNIDRYT
(i) O Y T IaTeA
(i) TP BN RS 9 °1g Iodred
(v TAfEd iy Bl SqUTE g TTer

(v) A AR BY Aol g Hall Bl ST

Match the following :

(i) Dairy Farming Citrus Fruits

(ii) Plantation Agriculture Milk production

(iii) Truck Farming Rubber and Tea production

(iv) Mixed Farming Crop production and Animal rearing
(v) Mediterranean Agriculture Growing of Vegetables and Fruits

03 95 BT g 12x1=12

Multiple choice questions (MCQ)
ferferRad ue uea & forv dafous SR fRw v 8| W& SR fors:
Four optional answer are given for each of the following questions. Write the correct answer :
(i) SIFRTOET 2011 & SIAR HRA # ST 6T 99 &
(a) 382 aufad ufa o fahoHo (b) 324 =fad Ufer a7 fHowo
(c) 267 afdd ufcr a¥f faHowio (d) 360 & Ufer a¥f faHowio

According to the census of 2011, the population density of India is :
(a) 382 persons per Sq. Km. (b) 324 persons per Sg. Km.
(c) 267 persons per Sg. Km. (d) 360 persons per Sg. Km.

(ii) ST @Y ufear de IRWT B TS 2
(a) 1945 S0 (b) 1936 S0 (c) 1951 SO (d) 1947 SO
When was the planning process started in India?
(a) 1945A.D. (b) 1936 AD. (c) 1951A.D. (d) 1947 A.D.

(i) T H R BTG AT B AR 2

(a) &Y (b) A (o) BV Ud FoART  (d) 3T AT
The important means of irrigation in India is ?
(a) Canals (b) Ponds (c) Wells and Tubewell (d) Other sources

(iv)  9Rd ¥ 3IfSd STHIRAT aTell 1T i 4T 8 2



uo4

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)

(a) IR U (b) UG (c) BRAT  (d) I

Which State has the highest population in India ?
(a) Uttar Pradesh (b) Punjab (c) Haryana (d) Kerla

AP & G185 S dTell Bacll Dl &7 PHad & 2
(a) & (b) WH (c) SIS (d) 399 9 Pl el

What is the winter crops known as ?

(a) Rabi (b) Kharif (c) Zaid (d) None of these
ffaRad 3 & o a1 g [Fareany © 2
(a) BV (b) T (c) TTUR HIAT (d) ReR BT

Which of the following is a tertiary activity ?
(a) Agriculture (b) Weaving (c) Trading (d) Hunting

/1 9 e Qo ¥ fofmgra wad ifd® 2 2

(a) AT (b) SITUTA (c) A 3RE AT (d) B
Which one of the following countries has the highest sex ratio ?

(a) Latvia (b) Japan (c) U.A.E. (d) France

e § 9 @9 1 uftad aRe T8 2 2
(a) STeT @I B (b) RISIRT  (¢) W@ReY Flawy  (d) ABERT

Which one of the following is not a push factor ?
(a) Scarcity of water (b) Unemployment (c) Health facilities (d) Epidemic

fpell YeTT Jtrar o AR & A2 gl g8 T SRID R BEd © ?
(a) SMIATHR TRI  (b) IRFP IR () TRD ATHAT IR (d) TATDR KT

Which pattern of a settlement is mainly built along a Railway line or Road ?
(a) Rectangular pattern of settlement (b) Liner pattern of settlement
(c) Star pattern of settlement (d) Circular pattern of settlement

wER AT Hahel B 3 < H Rerd 2 2
(a) STl (b) SITIT (c) I (d) STHT

In which country Ruhr Industrial cluster is situated ?
(a) England (b) Japan (c) China (d) Germany

ST JdT DI T TR P Mfgdg JdT 8 »

(a o8  (b) G (o) feeelt (d) PTTBTAT
Unique Dabbawala Service (Tiffin Service) is the service of which metropolis ?
(a) Chennai (b) Mumbai  (c) Delhi (d) Kolkata.

f=faRad 5 9 o9 A1 fBar B e BlelR. ITAT HEd & ?
(a) WAFE  (b) TAD (o) TP CREGIRED

Which one of the following activities is called 'Gold Collor' occupation ?
(a) Primary (b) Quaternary (c) Quinary (d) Secondary

STTERT BT Tcd W SMUBT T JAYTT 82 STAT b Teed bl JATIT BN aTol

BNDT DI AT B | (5)
What do you mean by population density? Explain the factors which affect the density of population.

OR
STHET Jard & /T AU 22 Uard & fAfI= YbRI BT gl & |

What do you understand by population Migration ? Describe in detail.



Y05 TRI BT YBIIHD bR BT | (5)
Classify the functional classification of Towns.
OR

Aa A & Adhdal o [ORgd Rm 3 |
Describe in detail about the indicators of Human Development.

906 ANl Sidl X1 dl AEARAD 22 YT Sfel GReTU & fafder Iurai a1 fawga auie @ |
What is the need of water conservation ? Explain in detail about the various measures to conserve

Rain Water Harvesting. (5)

OR
A Bl RN & I U dHIferd T -2 AT 52 9Rd 3 gAD I<ed gd
feRoT @1 = WX |

What are the appropriate geographical conditions for the cultivation of Rice? Describe its production
and distribution in India.

Y07 YR H ¥l b A8cd Ud fddrRT BT quid BT |

Describe the importance and development of Railway in India. (5)

o8 Wed Ud UHIvl IRddl H =R ddTsy |

Distinguish between compact and scattered or dispersed settlements. (4)
gog oy foitr fRifie fdy @ed &2
What is age sex pyramid ? (2)

010 Holl b IRERNTT 3R IN—IRTEORETT Adl H 3=} 97U |

Distinguish between conventional and non-conventional sources of energy. (2)
g011  fASiiaxoT | I AU 87

What do you mean by Privatisation. (2)
F012 A4 e | @RT I 57

What o you mean by Human Geography? (2)
[013  WRied | AMUdHT RAT AU 57

What o you mean by Tourism ? (2)
go14 fafare & @ar sfvmma &7

What o you understand by determination ? (2)

Y015 UATET 98} AN R Ifera e forg |

Write a short note on Panama canal. (2)





